g4 2 LR

128 % ($2%) A T

Ep A ED

Form - Gl J 5 . .y ; >3
g % upE PR s £ 4 PRI & R (%)) P (W B4 =
g 7 ‘ 28 B H % 3 )

B RS 112.12. 31 50% 112.6. 30

o [REE R 112.7.1
B A e 112.7.15 100% 715

) B HEEaiz = ’ B
BRI BET o gp s tp & [112.12.15 0% ¥ AR

T ¢
RERTREF kg g 112.10. 15 100% ARl 112.8.31
P AETE

HERTBEF \wppms (1121231 40% TR 12.6.31




HiOREBET g ume  (112.10.31 (30,000  [15:000 |50y s 112.4.15

BB AEY B SRR |[190.30 (5200 [16,000  |sgy 2 red A 112.4.15

iR AE] [ EEEt ¥ |19 9 30 [50,000 0 0% ¥ AR
&

MRy [REsEs | g s 56,012 o , g




